Řešení:
T60/1 	1. Ken Noguchi, 2. Japan. (He is a Japanese climber), 3. Mount Ewerest. (People have called the mountain „the highest rubbish dump in the world“), 4. Yes, it has. (Things are better now.)
T60/2   1f, 2e, 3b, 4h, 5d, 6g, 7a, 8c.
T61/3   1. tins, tents, sleeping bags, food, medicine, empty oxygen bottles
	2. Because of modern equipment.
	3. Because a lot of people have climbed the mountain and they have left rubbish there.
	4. To make people aware of the problém.
	5. To pay a big fine.

Gramatika: vaše věty s „already“ -  hlavně odpovědi musí být v předpřítomném čase. A zkuste vlastní, ne stažené z internetu.
